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BRFERAFCLER B[
BTEE YEEE
= FriE ok #H FiE e e}
KA 1,860 1,760 3,620 1,890 1,790 3,680
A 930 880 1,810 950 900 1,850
BEAERIFCLER
BTEE YEEE
= FriE e #H FiE e e}
3mEHEBE 8,340 7510 15,850 6,320 5,270 11,590
[:3=1ES 7,040 6,010 13,050 7,170 6,120 13,290
LERMAE 8,050 7,020 15,070 8,200 7,150 15,350
EoRERASEER (RERFAER (F#))
X5 RITER HEER
HizE 1,130 1,150
R (125c05K i) 1,530 1,560
BE = (750cck i) 2,440 2,490
B &)= (750cckl k) 3,040 3,100

BREER B
RITER BEEE
=7 FriE Bt IQEED #E FriE #iR (121351) e
P UN 2,530 2,280 4,810 2,570 2,320 4,890
\UN 1,270 1,150 2,420 1,290 1,170 2,460
METEE
RITER BEEE
=7 FriE b IQEEN) *1E HiE MR (15151) i
3mEK i 6,410 5,770 12,180 6,530 5,880 12,410
AmR i 7,930 7,140 15,070 8,080 7,280 15,360
SmK i 9,360 8,430 17,790 9,520 8,570 18,090
6mRK i 10,180 9,170 19,350 10,370 9,340 19,710
TR 12,180 10,970 23,150 12,410 11,170 23,580
Smk i 13,770 12,400 26,170 14,030 12,630 26,660
OmRK i 15,240 13,720 28,960 15,520 13,970 29,490
10m3ki 16,420 14,780 31,200 16,730 15,060 31,790
1mki 18,130 16,320 34,450 18,470 16,630 35,100
12mkil 19,620 17,660 37,280 19,990 18,000 37,990
ERBEFRMER(CRERE
R% RTER BEE R
BEE 1,170 1,190
R4 (125c05K i) 1,760 1,790
B &)= (750cckiH) 2,480 2,530
B &)= (750cc A E) 3,080 3,150




